F 7
” g @ Polynoomuitbreiding

Naam: Datum: Score:
(5x° = 3x+H)(3x+ 1)+ 3 x dx + 4 (3x* + 5x— 5)(3x — 6) + 5x — 5
(Bx + 4)(2x — 4)(6x — 4) (6x+ 6)(6x° — 6x— 6)— (x + 1)(x + 1)
(3x + 3)(2x° — 6x + 6) — (6x + 6)(5x — 5) (43 — 3)(6x +6) + 2% —5x — 1
(2x — 5)(x + 5)(3x + 5) (3x> —x+2)(6x+ 6)— 5 x 4x— 3
(3x + 5)(5x + 6)(2x — 4) (5x° — 4)(4x—1)— 4 —x— 4
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Naam:

(5x> = 3x+4)Bx+ 1)+ 3 x 4x+ 4
15x%° — 40 + 21x+ 8

(3x + 4)(2x — 4)(6x — 4)
36x° — 48%° — 80x + 64

(3x+ 3)(2x% — 6x+ 6) — (6x + 6)(5x — 5)
6x° — 427 + 48

(2x — 5)(x + 5)(3x + 5)
6x° + 25x% — 50x — 125

Bx+ 5)(5x+6)(2x— 4)
30x° + 26x° — 112x — 120

Datum: Score:

(3x% + 5x—5)(3x —6) +5x — 5
9% — 3x% — 40x + 25

(6x+ 6)(6x% — 6x— 6) — (x + 1)(x + 1)
36x° — xF — Thx — 37

(4% = 3)(6x+6) + 2% —5x — 1
245> + 26x% — 23x— 19

(3x% — x+2)(6x+ 6)— 5 x 4x— 3
18 + 12x* — 14x+ 9

(5x* — 4)(dx— 1) — 4% —x—4
20x° — 9% — 17x
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